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Simon Foucher


117. Below are four transactions that were completed during 20A by Doby Company. The annual accounting period ends on December 31. Each transaction will require an adjusting entry at December 31, 20A. You are to provide the 20A adjusting entries required for Doby Company.

A. On July 1, 20A, Doby Company paid a two-year insurance premium for a policy on its equipment. This transaction was recorded as follows:

July 1, 20A:

Cr. Prepaid Insurance

$1000

Dr. Cash


$1000

December 31, 20A--Adjusting entry: (1000$/24mth*6mth=$250)
Dr. Insurance Expense

$250

Cr. Prepaid Insurance

$250
B. On December 31, 20A a tenant renting some office space from Doby Company had not paid the rent of $500 for December.

December 31, 20A--Adjusting entry:

[Assuming tenant is not expected to leave without paying]

Dr. Account Receivables

$500


Cr. Rent Revenues


$500

Note: If Doby’s regular operations do not include renting office space, AR could be replaced by ‘Other receivables’

C. On September 1, 20A, Doby Company borrowed $3,000 cash and gave a one-year, 10 percent, note payable. The total interest of $300 is payable on the due date, August 31, 20B. The note was recorded as follows:

September 1, 20A:

Dr. Cash 


$3,000

Cr. Note payable 

$3,000

December 31, 20A--Adjusting entry:

Interest incurred during 20A: 4 mths (Sep, Oct,Nov,Dec) / 12mths (1 yr) * $300 = $100

Dr. Interest Expense

$100


Cr. Accrued Interest

$100


D. Assume Doby Company publishes a magazine. On October 1, 20A, the company collected $440 for subscriptions two years in advance. The $440 collection was recorded as follows:

October 1, 20A:

Dr. Cash




$440

Cr. Unearned Subscription Revenues
$440

December 31, 20A--Adjusting entry: 

Revenues earned during 20A: 3Mth (Oct, Nov,Dec) / 24 Mth (2yr) *$440 = $55

Dr. Unearned Subscription Revenues
$55

Cr. Subscription Revenues


$55

118. Four transactions are given below that were completed during 20A by Wren Company. The annual accounting period ends December 31. Each transaction requires an adjusting entry at December 31, 20A. You are to provide the adjusting entries required for Wren Company.

A. On December 31, 20A, Wren Company owed employees $1,750 for wages that were earned by them during December and were not recorded.

December 31, 20A--Adjusting entry:

Dr. Wage Expense

$1750

Cr. Accrued wages

$1750

B. During 20A, Wren Company purchased office supplies that cost $500 which were placed in the supplies room for use as needed. The purchase was recorded as follows:

20A:

Dr. Office Supplies Inventory
$500


Cr. Cash


$500

At the beginning of 20A, the inventory of unused office supplies was $75. At the end of 20A, a count showed unused office supplies in the supply room amounting to $100.

December 31, 20A--Adjusting entry:

Inventory used: $75 (Beg) + $500 (Purchased) - $100 (End) = $475

Dr. Office Supplies Expense
$475


Cr. Office Supplies Inventory
$475

C. On December 1, 20A, Wren Company rented some office space to another party. Wren collected $900 rent for the period December 1, 20A, to March 1, 20B. The rent collected was recorded as follows:

December 1, 20A:

Dr. Cash



$900

Cr. Unearned Rent


$900
December 31, 20A--Adjusting entry: (1/3 month of rent used up)
Dr. Unearned Rent

$300

Cr. Rent Revenue

$300

D. On June 1, 20A, Wren Company borrowed $2,000 cash on a one-year, 10% interest-bearing, note payable. The interest is payable on the due date, May 31, 20B. The note was recorded as follows:

June 1, 20A:

Dr. Cash

$2000

Cr. Notes Payable
$2000   

December 31, 20A--Adjusting entry: 

Interest incurred: $2000*10% = $200 * 7mth [June-Dec]/ 12 mth = 117$

Dr. Interest Expense

$117


Cr. Accrued Interest

$117

119. Four transactions are given below that were completed during 20A by Lucky Company. The annual accounting period ends December 31. Each transaction will require an adjusting entry at December 31, 20A. Provide the adjusting entry required.

A. On January 1, 20A, Lucky Company purchased office equipment that cost $8,000. The estimated life of the office equipment was five years ($500 residual value).

December 31, 20A--Adjusting entry:

Assuming straight line depreciation; ignore CCA impact; Amount to depreciate in Y1: 

$8000-$500=$7500/5=1500$ 
Dr. Depreciation Expense

$1500


Cr. Accumulated Depreciation

$1500

B. On June 1, 20A, Lucky Company paid $12,600 for one year's rent beginning on that date. The rent payment was recorded as follows:

June 1, 20A:

Dr. Prepaid Rent

$12600

Cr. Cash


$12600   

December 31, 20A--Adjusting entry:

Rent used: [Jun-Dec] 7mth / 12mth *12600 = $7350
Dr. Rent Expense

$7350


Cr. Prepaid Rent

$7350

C. Lucky Company purchased office supplies during the year that cost $700 and placed the supplies in a storeroom for use as needed. The purchase was recorded as follows:

February 1, 20A:

Dr. Office Supplies Inventory
$700

Cr. Cash


$700   
At the end of 20A, a count showed unused office supplies of $200 in the storeroom. There was no beginning inventory of supplies on hand.

December 31, 20A--Adjusting entry:

Office supplies used: $700 (purchases) + 0$ (Beg) - $200 (Left) = $500

Dr. Office Supplies Expense

$500
Cr. Office Supplies Inventory

$500

D. On December 31, 20A, Lucky Company owed employees $3,000 for wages earned during December. These wages had not been paid nor recorded.

December 31, 20A--Adjusting entry:
Dr. Wage Expense

$3000


Cr. Accrued Wages

$3000

